STUDENT NUMBER:
TEACHER NAME:

BAULKHAM HILLS HIGH SCHOOL

MATHEMATICS ADVANCED ASSESSMENT

December 2009

Time allowed - Fifty minutes
Plus 5 minutes reading time

DIRECTIONS TO CANDIDATES:

Show all relevant working.

Use black or blue pen.

NO liquid paper is to be used.

Approved Maths aids and calculators may be used.
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QUESTION 1 [6 marks]
Find the primitive function of:
(i) 2x*+5x-—1

x2+2

(ii.) =

(iii) (2x + 5)1°

QUESTION 2 [3 marks]

Redraw and complete the table below for the function y = xv4 — x
correct to 4 decimal places.

. 4 . . . .
Hence estimate | o X¥4 = x dx using Simpson’s rule with 5 function values
correct to 3 decimal places.

QUESTION 3 [4 marks]

Find the vertex, focal length, focus and directrix of x% — 6x +y + 18 = 0..

QUESTION 4 [5 marks]

(a) Find the area bounded by y = x2 — 6x + 8, the x axis and the lines x = 0 and x = 4.

() If [f4—2xdx =4,find k.

QUESTION 5 [4 marks]

Ify=2xvx+1
. Show that dy  3x+2
() how tha x - Ti
8 3x+2

dx.

(ii) Hence evaluate

3 VJx+1



QUESTION 6 [4 marks]

Sketch y = 14 cos2x for 0 < x < 2m.
State the period and amplitude.

QUESTION 7 [4 marks]

In the figure AR and AC are radii of a circle with centre A. AB = AC = r metres.
E lies on arc BC.

e

C

If the perimeter of the figure ABEC is 16 metres, find the area Y (in m?) of the sector
ABEC. Answer in simplest form in terms of r.

QUESTION 8 [4 marks]

The point P(x, ) is equidistant from the lines y = 5 and 3x + 4y — 16 = 0 and
lies in the shaded region of the diagram. Find the equation of the locus of P.



QUESTION 9 [4 marks] (Start on a new page)

. 4
leen=x+;c—.

The shaded region is rotated around the x — axis. Find the volume of the solid of revolution
in terms of 7.

END OF EXAMINATION
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